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6 PART TIME DIPLOMA COURSE IN CME
' APPLIED MATHEMATICS - 1

Time : Three Hours Maximum Marks : 100

4 1 ] 1 1
Zl=—- ——t . .
log,(e) 1.2 23 ’ 3.4 45 Yote : (i) Attempt total six questions. Question No. 1

(c) Ina AABCif(atbtc) (b+c-a) = 3bc then prove (Objective type) is compulsory. From the
that £4 = 60°. 6 remaining questions attempt any five. ¥

& 7% (a+b+c) (bre-a) = 3bc 2 A @ Fel B: U & HAUl 957 FAiH 1 (er@
mfi?:mo.(a e TR F) A 2 U ge d A R O &

& iUl
- . ( (i1) In case of any doubt or dispute, the English
) i; version question should be treated as final.

Tl oft UpR & HeE Ayal AR & Rl A
ST 99T F "9F FI ATAW q=T T

. Choose the correct answer. 2 each

. TE T & 999 FiAul

1) IfA.M. between two numbersis 9 and HM. is 4
then G.M will be

? b) 36 !
@ 7 (b) 36 .
(c) 6 (d) 12
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Atz 1 TR 1 GERR TE 9 2 IR ESE e

4 2 A TR WA A 4 0 0
. .10 2 0}.
9 P iv) The matrix 1S
() 5 (3) 36 N 007
(") 6 (7) 12 . (a) Scalar matrix (b) Diagonal matrix
ii) Ifnp,:np, = 1:2then the value of nis: (¢) Unit matrix (d) Column matrix
(a) 6 . (b) 5
(c) 4 (d) 9 400
ﬂﬁan:np5=l:2%€lnﬂ‘1ﬁ%: A 020 3.
AA)6 (@) 5 00 7
(\) 4 (7) 9 (31) zar ez «4) [0l JrE
3 A (|) T amge (%) &9 g
= — then the value of Sin 2A is : ,
lij) IfSinA =75 the v) Iftan© = I then general value of @ is :
3 i T b1
(a) E | (b) 25 (a) mti'z (b) m'r+z
2 d) 2_4 T T
(©) 35 @ (c) mm= (@) (2n=1)%
L]
uﬁSinA=%%a’ISin2Amm%l AT tan O =1 2 &1 0 F AH T 2M:
- T T
3 6 () nmut— ia) nm+—
— - - 4
(%) 75 @) 52 4
T T
2 24 (/) nm—— (3) (2n-1)
(/) 3 (3) 5% 4 3
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2. (a) The sum of three terms of an A.P. is 15 and the

sum of its square is 83. Find the terms. 6
e FTR A 3 S OE AW 15 3R I
F1 4w 83 ¥ @l w T Al “;:f_»«* (-4

it ] ial fraction. 6
(b) Resolve (x—1)(x+2) into partial fraction. 0

Tx+2

T(x+2) 1w e & FEiel

(c) Find the constant term in the expansion of

| 0
(xz +—3-) . 6
X y - v

[x2+1—3)‘0 % TER § T T S

X

3. (a) Solve the simultaneous equations by Cramer's

rule : . 12

x+y+z =13

x+2y+3z=4

x+4y+9z=6

Ffafiad gTad e Fm FEm " A

il

(b)

4. (a)

(b)

(5)

x+y+z=3

x+2y+3z=4

x+4y+92=6

[£2°Cr = 2°Cr+4 then find the value of °Cr. 6
AR 2°Cr = 2Cr+4 2 & °Cr & 9 T4 Al

Find the median and the Standard deviation of the
following distribution. 12
Class 0-10 10-20 20-30 30-40
40-50 50-60 60-70 70-80
Frequency : 5 10 20 40
30 20 10 5
Fmfenaa B & qiizgad AR 9FE ddaH 5
B
i . 0-10 10-20 20-30 30-40
40-50 50-60 60-70 70-80

AT : 5 10 20 40
30 20 10 5

Find the mean of the following distribution: 6

Wages : 0-10 10-20 20-30 30-40 40-50

(inRs.)

Numberof : 22 38 46 35 20

Workers
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= T A T b) Find the i fthe thatrixa=|! 2 3
gl (& A): 0-10 10-20 20-30 30-40 40-50 () Findtheinverse of the thatrix A=) "%~ |
AN 12

i : 22 38 46 35 20
A F Gohd T Fw A= | 2 3,
5. (a) Provethattan A + cot A=2 cosec 2A. 6 B A 0 1 -]
g T tan A + cot A = 2 cosec 2A.
1 7. (a) Solve the equation x’-1=0 by De-Moiver's
(b) Prove that Cos20' Cos 40' Cos 60 Cos 80'= 6 | theorem. 9
6 TR x7-1=0 Teumgasd Wig ZW e Fifw)
£ ' ' Cos 60 C 80'=—]- (b) Ina AABCiifb=/3cm,c=1cmand 4= 60°
e Cos20' Cos 40" Cos ) Cos 16 then find the rest element of the triangle. 9
c) Solvethe equation 2 sin’0 + 3 cosO = 0. 6 AABCH b= /3cm,c=1cmand ,4=60°2 dl
(c)
FHIH 2 sin’0 + 3 cos® = 0 Hl & HiiAT Ry ¥ 5 oA T AR
B
2 -2 2,4,6 8
6. (a) 1fA=[_2 ) ] then show that A3 = 16A. 6 8. (a) Provethat 43 45 47 49 ..... w=e¢ 6
o 6 8
2 ..... — —l
ag A= [2 2]?€lﬁlaiﬁﬁA3-l6A e fg';43 éshtté/z 49*". w=e
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